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Chapter 10 Review: Trigonometry

Use the triangle below for duestions 1-4,
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Find the following trig ratios. Leave your answers in fraction form.
BC c

© SinA= A_B © CosB=g /A/PD

© CosA= AG | AB @ TanB= AC[RC

© TanA= BC/ AB

© SinB= AQ,[AP;
Suppose you were given the measure of angle A and the length of side c. If you were asked to
find the length of side a, which trig ratio would you use? Why?

A . S, becawar Fom angle A
: C mmh\{pow\m and S*Cia'-‘*
co b e opposite Side from angle /

Suppose you were given the lengths of sides b and ¢, and you were asked to ﬁnd the measure

of angle A. How wou]d vou do this? Explain. . IAY
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side lo is odjacent 1o 0.1"8
Side C is hyporchuge | SO™UK Cos .

How is the sine of angle A related to the cosine of angle B?
Sin A= CosB
E_.)._C. - BC
AB AR
When looking at a trig probiem, how do you tell the difference between using a regular
trigonometric ratio or an inverse trigonometric ratio? Explain.
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Find the missing side lengths and angle measures below.
triangles!
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Please notice that these are not right

0P Lm4C -2 o COSA
V2= 15T+ - 209)(17) Cos 130

Jv* {84821

n?.. :LZZZ + 50j —12.(22)(301003 A

= |34 - 1320 co
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23 = —1320 Cos A
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Aslks = Cos A
os™ (A508) -

SINX  ,Sin4%
.3 7.2
SN X = .S

Sin (s

14) Give exact values for each of the following.
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Cos 150°—> 2/ Z

Sin 240° —> ~V3 /2
Tan 270° —> whdebne
Cos 585° —> -z f2.
Sin -135° — -JZ /2.

‘Tan 315° _, _ |
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Use a diagram to solve each of the following problems.

~.. 15)A plane flying at 42,000 feet is 324 miles away from the airport. In order to land at the airport O
o appropriately, at what angle should the plane descend?
P fono= Ll
0©  7m \ 224
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16)A flagpole casts a 22-ft shadow when the sun makes a 78° with the ground. How tall is the

X

22

flagpole?
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17)Miles, who is 57 6” tall, stanéls 24 feet from the base of a building. He can see the top of the
building at an angle of 58°. How tall is the building? X
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18)The leaning tower of Pisa was originally perpendicular to the ground. It is 179 feet tall. Because
the foundation is slowly giving way, the tower now leans at an angle. A 6-foot-tall spectator
stands 150 feet from the base of the tower and can see the top at an angle of 53°. At what angle
does the tower now lean?

19)Two ships leave a harbor at the same time, traveling on courses that have an angle of 140°
between them. If the first ship travels at 26 miles per hour and the second ship travels at 34
miles per hour, how far apart are the two ships after three hours?
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20)Fill in the blank unit circle below, from memory! Degrees, radians, & exact values!
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